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. A food chain is

cosystem may be defined as
A A species alongwith environment
plants found in water
(C) Plants found on land

All plants and animal species alongwit]
environment. gwith

A pond/lake 18

@A) A biome

(B) A natural ecosystem

C) An artificial ecosystem

D) A community of plants and animals only,
(RPM.T. 2002)

Biome 18

" (A) The fauna of an ocean

(B) The flora of land

©) Communities of organisms interacting
with one another

The part of the earth and i
) whiclljl is inhabited by liviiétcs)ragtanrllci):gl}fre
. (C.E.T. Chd. 2009)
Grassland biome for its maintenance requires
(A) Periodic fire (B) Intensive grazing
(C) Mowing (D) All the above.
Primary consumers in detritus food chain are

(A) Herbivores

(B) Bacteria and fungi

(C) Insect larvae, nematodes
(D) All the above.

Total organic matter present in an ecosystem
is called

(A) Biomass (B) Biome

(C) Litter (D) Food.

Putrefying organisms are
(A) Producer organisms

(B) Reducer organisms

(C) Consumer organisms
(D) Parasitic organisms.

A peacock eats snakes whic
eat hoppers which in turn thrive o
the plants. The peacock is

(A) Primary consumer

(B) Secondary consumer

(C) Decomposer

(D) Apex of the food pyramid. (

h eat frogs. These

C.P.M.T. 2002)

(A) Group of organisms which eat the same

type of food
(B) Animals eating the plants

(CPMT. 1998) l
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(©) Snriuu of plants/animals which are
interrelatoed in the form of organism being
eaten as food by the other

(D) None of these,

A food chain consists of

(A) Producers

(B) Consumers

(C) Decomposers

(D) Producers and consumers.

Trophic levels in a food chain are formed by

(A) Producers (B) Congumers

(C) Decomposers (D) All the above.

A food chain always starts with

(A) Photosynthesis (B) Respiration

(C) Nitrogen fixation (D) Decay.

Primary consumers are

(A) Green plants (B) Herbivores

(C) Carnivores (D) All the above.

Secondary consumers are

(A) Green plants (B) Herbivores

(C) Carnivores (D) All the above.

Which of the food chain directly depends on

solar radiations ?

(A) Predator (B) Grazing

(C) Detritus (D) None of these.

Producers in any grazing food chain

(A) Feed the herbivores

(B) Feed the carnivores

(C) Clean the atmosphere

(D) Capture solar energy.

Converters or transducer organisms in the

food chain are called

(A) Herbivores (B) Carnivores

(C) Decomposers (D) Producers.

Trophic level in a food chain which cycles the

various materials between environment and

living organisms 18 constituted by

(A) Producers (B) Consumers

(C) Decomposers (D) All the above.

Food web is constituted by

(A) Various interlinked food chains in a
community

(B) Relationship between animals and plants

(C) Relationship between organisms and their
environment

(D) Relationship between animals, plants and
microbes.
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20. Vegetation of a
rainfall, high temperat
soil is of the type called
(A) Grassland
(B) Scrub forest
(C) Xerophytic et

Evergreen tropica st. e

21. gx))temsm'al ecosystem, maximum energy is

present in

(B) Ty

5 ?f D) T,. (Odisha 1997
22. In pond ecosystem, the shape of pyramid of

number is

(4) Linear (B) Irregular

(C) Upright (D) Inverted.
23. In parasitic food chain, the pyramid of number

18

(A) Linear (B) Upright

(C) Inverted (D) Inverted upright.
24 In grassland ecosystem, the pyramid of

biomass is

(4) Linear (B) Upright

(C) Inverted (D) Inverted upright.

25. In pyramid of food, the producers occupy
(A) The base
(B) Position near the base
(C) Apex
(D) Position near apex.
26. Energy flow in an ecosystem is
(4) Unidirectional (B) Bidirectional
(C) Multidirectional (D) All the above,
(B.H.U. 1996, RP.M.T. 1998, J.K.C.E.T. 2008)
27. Ascending trophic level in grazing food chain
pyramid represents
(A) Gradual decrease in biomass from apex
to base
(B) Gradual decrease in biomass from
producers to the tertiary consumers
(C) Gradual increase of the biomass from
producers to the tert; consumers
(D) No change in biomass.

28. Rate of storage of organi
ganic matter not used b:
heterotrophs is termed ag Y

(&) Net productivity

(B) Net primary productivity
(C) Gross primary productivity
(D) Secondary productivity,

> ES 2
ship between the prog % rs and :
In an ecosystem is called

(A) Trophic level

(B) Ecological system

hic region with low
gmgmﬂm Joose and sandy

- If all green plants of earth a

1. The typical biome of an

o

- Grassland of U.S.A. is referred to 4

- Plankton, Nekton and Bent)

- A functiona]

(C) Ecological niche

(D) Ecological pyramid.
re

(A) All plants shall die destroyeq

(B) Only herbivorous animalg shal] di

(C) All animals shall die llllimate[y i

(D) Nothing shall happen to “"imms‘

50 to 100 cm of rainfall is
(A) Desert

(B) Grasslang
(C) Deciduous forest

(D) Conifergy, f
s

(B) Steppes

(D) Veldts,

(A) Prairies
(C) Pampas

components of one of ecosystemg Which
(A) Oceans
(C) Grassland

is
(B) Fresh wate, Tiv
(D) Pond or lake,

- The food chain in which microorganjsms b

down the energy rich compounds Synthesizeq
by producers is B

(A) Predator food chain
(B) Parasitic food chain
(C) Detritus food chain
(D) None of these.

- When a big fish eats a small fish which eats v
water fleas supported by phytoplankton, water |

fleas are

(A) Producers

(B) Primary consumers
(C) Secondary consumers
(D) Top consumers,

36. ?eciduous plants are those in which leaves
all

(A) Once in a year (B) Twice in a year
(C) Many times a year (D) None of the above.

- Which forests have maximum diversity ?

(A) Subtropical rain forests
(B) Coniferous forests
(C) Tropical forests

(D) Deciduous forests, (B.H.U. 1996)

- Which one g not a factor of the abiotic

environment ?
(A) Sunlight

(C) Wate, (B) Decomposers
r

(D) Temperature.
aspect of an ecosystem is

@) P"’,ducel‘ﬂ, consumers and abiotic
emnronment

g I:R,/'enhtio’l of populations
dilgl?ifi,e ‘emperature, oxygen and carbon
(D) Both A ang ¢,

-vulogyvq.

areg having

hos are Dot ¢, |

tem

e of a food chain ?

. 1 .
Eﬁos\.vhich 1 ”(‘ of food from one trophic leve] ¢,

o LY {'ﬂ’lnex! higher one

he T e of energy from one trophic Jeye]
® Pﬂs[sggnvxt higher one i
<ok ‘ipﬂtinn of energy at successive trophic
Diss
© Jevels

(p) Al the 2P
food weﬂl;eg variety of food at each trophic

ove.

licately balances the inter — relations
(®) De ongst organisms .
am ases variety of food but increases
© Decriitv of food at each trophic leve].
);;u;’;asés variety as well as quantity of
(D) Int

food at each trophic level.

, Which is true ¥
** ) Tigers prey
(B) Tigers prey Ul

upon herbivores :
pon all types of land ani mals
C) Tigers prey upon most of' land animals
( but can also eat aquatic a‘mmals. e
(D) Tigers prey upon medium-size

animals. .
i dra is foun :
g ﬁ%lflgii::; B Gljeen 1sl::d
(C) Both A and B (D). M’mﬁony 2 g
44. Rainfall is absent but pr(%c)l;;m picalmdesert
(A) Arctic desert O

(C) Chapparal
45. Taiga refers to
(4) gI‘emperate deciduous f.orest s
(B) Subtropical semi — deciduous
C) Evergreen forest g
ED)) North temperate coniferous fores
46. Chapparal occurs in area e,
(A) Africa (B; Alra 2
(C) Mediterranean ® bt
47. Rainfall occurs in chapparas u!'l-ﬂger
(A) The whole year (B; Spummring~ R
(C) Winter y OED E
48. Deserts occur in areas fh
(A) Adverse human éxstur::;
(B) Underground saline v; o
(C) Little underground W
(D) Rain shadow. e
49. All types of latitudina, WAL
telesc};gzd on high hills fou.\; Ci pxcll :;:::
(A) Tropical areas o Nogglofthe e
(C) Temperate areas e
50. Which ecosystem clv:)es”p]l
dependent upon geogrér
rainfall ?

are found

_psgudom“‘“i“m

W YD d
in,,h»t;ocﬂ""’n an,

() Marine sy gy

(B) F Tesh water erosystem
(©) Desert ecteystom

(D) Tropical ecosystern,

- Upper reaches of 4 river does not possess

man}'liﬁngbeinggbemmd
(4) Low temperatyre

(B) High speed

(C) Little depth

D) Bothlowlempemmmandhighq)eed.

- Agroecosystem is unstable because of

() Lack of variety

(B) Lack of biological control
(C) Both A and B

(D) Being man — made.

53. Agents which make free atmospheric nitrogen

available to plants are

(4) Lightning 1
@)gmﬁmnﬁ#ﬂ!m
(C) Symbiotic nitrogen fixing bacteria
(D) All the sbove.

a of soil fertility without addition

of nutrition is due to

(&) Floods

(B) Crop residue

(C) Favourable mperam
(D) Microbial activity.

C)
ED) None of the ‘b"‘“lm ortant component of

) Industrisl BXRUOR oy ochemical

) Electrhchemi_dql and
& fixation
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(C) Biological fixation

(D) All of the above.

Earth is an open system for

(A) Minerals (B) Energy
(C) Gases (D) Water.
Lithosphere is reservoir of

(A) Carbon (B) Oxygen
(C) Phosphorus (D) Nitrogen.

2. Which of the following process helps in

nutrient conservation ?
(A) Mineralisation (B) Immobilisation

(C) Leaching (D) Nitrification.

"
63. Which of the following represents Sedimen,,
type of nutrient cycle ? tar,

(A) Nitrogen

(C) Phosphorus (D) Oxygen,

i1. Which of the following is a free living njt
fixing bacterium present in soil ? T0Ren
(A) Azotobacter (B) Nitrosomongy,
(C) Rhizobium (D) Pseudomongy

5. What fraction of assimilated energy ig
: TR bi 9 Useq
in respiration by the herbivores :

(A) 20%
(C) 40%

(B) Carbon

(B) 30%
(D) 60%.

Scanned by CamScanner



1. D)
11. (D)
21. (O)
31. (B)

41. D)

51. (D)
A1 ()

2. B

. (A
22.
32.
42.
52,
62

(©)

A
©
©

(B)

3. (O)

13
23
33

43.

63

- (B)
. (C)
- (©)

@)
D)
. (©)

i@ E Answers

4. D) 5 B | 6.A
14. () 15.(®) '16.(D)
24. (B) 25. (A) 26. (A)
34. (C) 35. (B) 36. (A
44. (A) 45. (D) 46. (C)
54, (D) B5.(A) B6 Q)

. (A) 65. . @)

64

17.
2.
317.
47.
57.
67.

(B)
D)
(B)
(©)
(©)
B)
A)

8. M 9. (O 10. D)
18. (C) 19. (A) 20. ()
28. (B) 29. (D) 30.(C)
38. (B) 39. (B) 40. (D
48. (D) 49. (A 50. (4
58. O 59. (D) 60.(B
68. (A) 69. (D) :12. gg)
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